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(1) 

曲線𝑦 =
𝑒𝑥 + 𝑒−𝑥

2
, 𝑦 =

𝑒𝑥 − 𝑒−𝑥

2
と、直線𝑦 = 𝑎との 

𝑥 ≧ 0 における交点の𝑥座標を、それぞれ𝑝, 𝑞とする。 

𝑒𝑝 + 𝑒−𝑝

2
= 𝑎より (𝑒𝑝)2 − 2𝑎𝑒𝑝 + 1 = 0 𝑒𝑝 = 𝑎 ± √𝑎2 − 1  

𝑎 − √𝑎2 − 1 =
1

𝑎 + √𝑎2 − 1
≦ 1 であり、𝑝 ≧ 0 より 

 ∴ 𝑝 = log (𝑎 + √𝑎2 − 1) 

𝑒𝑞 − 𝑒−𝑞

2
= 𝑎より (𝑒𝑞)2 − 2𝑎𝑒𝑞 − 1 = 0 

𝑒𝑞 > 0 より 𝑒𝑞 = 𝑎 + √𝑎2 + 1 ∴ 𝑞 = log (𝑎 + √𝑎2 + 1) 

 

 𝑆𝑎 = ∫
𝑒𝑥 + 𝑒−𝑥

2
𝑑𝑥

𝑝

0

+ 𝑎(𝑞 − 𝑝) − ∫
𝑒𝑥 − 𝑒−𝑥

2
𝑑𝑥

𝑞

0

= [
𝑒𝑥 − 𝑒−𝑥

2
]

0

𝑝

− [
𝑒𝑥 + 𝑒−𝑥

2
]

0

𝑞

+ 𝑎 log
𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
 

          =
1

2
(𝑎 + √𝑎2 − 1 −

1

𝑎 + √𝑎2 − 1
) −

1

2
(𝑎 + √𝑎2 + 1 +

1

𝑎 + √𝑎2 + 1
− 2) + 𝑎 log

𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
 

          =
1

2
(𝑎 + √𝑎2 − 1 − 𝑎 + √𝑎2 − 1) −

1

2
(𝑎 + √𝑎2 + 1 − 𝑎 + √𝑎2 + 1 − 2) + 𝑎 log

𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
 

          = 1 + √𝑎2 − 1 − √𝑎2 + 1 + 𝑎 log
𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
 ⋯ ⋯ (答) 

 

(2) 

lim
𝑎→∞

(√𝑎2 + 1 − √𝑎2 − 1) = lim
𝑎→∞

2

√𝑎2 + 1 + √𝑎2 − 1
= 0 である。 lim

𝑎→∞
(𝑎 log

𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
)を考える。 

 𝑎 log
𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
= log (

𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
)

𝑎

 

 
𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
= 1 +

√𝑎2 + 1 − √𝑎2 − 1

𝑎 + √𝑎2 − 1
= 1 +

2

(𝑎 + √𝑎2 − 1)(√𝑎2 + 1 + √𝑎2 − 1)
 

𝑓(𝑎) =
(𝑎 + √𝑎2 − 1)(√𝑎2 + 1 + √𝑎2 − 1)

2
とすると (

𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
)

𝑎

= {(1 +
1

𝑓(𝑎)
)

𝑓(𝑎)

}

𝑎
𝑓(𝑎)

 

lim
𝑎→∞

𝑓(𝑎) = ∞であるから lim
𝑎→∞

(1 +
1

𝑓(𝑎)
)

𝑓(𝑎)

= 𝑒 lim
𝑎→∞

𝑎

𝑓(𝑎)
= lim

𝑎→∞

2

(1 + √1 −
1

𝑎2) (√𝑎2 + 1 + √𝑎2 − 1)

= 0 

これより lim
𝑎→∞

(𝑎 log
𝑎 + √𝑎2 + 1

𝑎 + √𝑎2 − 1
) = log 𝑒0 = log 1 = 0 ∴ lim

𝑎→∞
𝑆𝑎 = 1 ⋯ ⋯ (答) 
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